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1.8-02=18+2=9 (%)
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® 1247 +29 @53.55 =85 @ 7.56+2.1

@ 5.544 +2.31 ® 2541=+12.1

B

D 1247+29=10.43

@ 53.55 + 8.5 = 535.5 + 85 = 6.3
@ 7.56+21="756+21=236

@ 5.544 +2.31 =554.4 +231 =24
® 25.41 +12.1 =254.1 + 121 = 2.1
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2.7L = 2700 mL = 2700 cm?

(7} T2 29| £o])= 2700 + (25 x 12) = 9(cm)

(U 52] £2] £0])= 2700 + (15 x 18) = 10( cm)

w2tA U 59 9] £0|7F10-9 = 1(cm) H EHYTh
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634 cm

> de

— (100 x 3) + (100 X 3.14) + 20

300 4 314 4 20

634( cm)
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> e 286cm?

1
= (20 % 20) — (10 x 10 x 3.14) + (20 x 20 x 5)

=400 — 314 + 200
= 286( cm?)
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(A4 1= #9)

= (49 29 Hol)x2+ (EH)

= 54.34x 2+ 7.6 = 108.68 + 7.6 = 14.3(m)

AP L e gole AP =2 golot 2, ¥
c o] dol=H 1L=22] Zo]9] 1.9 He|]EE, ¥ L =9 A9
7.6 +1.9 = 4(m) Yt}

oA A4 L a9 Yole
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